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Problem: Super long Sum 

Difficult: 183 

Time limit: 2.0 second 

Memory Limit: 16MB 

 

Input 

The first line contains a single integer N that is the length of the given integers (1 

≤ N ≤ 1 000 000). It is followed by these integers written in columns. That is, the 

next N lines contain two digits each, divided by a space. Each of the two given 

integers is not less than 1, and the length of their sum does not exceed N. The 

integers may contain leading zeroes. 

Output 

Output exactly N digits in a single line representing the sum of these two integers. 

 

     

 

 

Input    Output 

4    4750  
0 4  
4 2 
6 8 
3 7  
 

Input    Output 

4    0024  
0 0  
0 0 
1 1 
2 2  
 

Input    Output 

3    417 
1 2 
5 6 
4 3 
 

 

Input     Output 

4    7862 

3 4 
1 7 
2 4 
1 1 
 



Solution 
 

Example Execution 
 

 
Use to read input that split by space  
work with StreamTokenizer.   

 
 

 
    
 
 
 

Keep sum of input value into array in 
each column. 

 

 
 
 



 
 
  Carry the remainder integer 

 
Convert value in array from decimal to ASCII 
code. 

 
Same concept with 
above picture but 
using outer loop to 
prevent index of 
bound. 

 
 
 
Test Case  
 

 
 
 
 
 
 
 
 
 

In this 2 pictures, it is an example of test case. It shown that user input n (integer) 
in first line that is length of output. When output is out of length of input in first 

line, it will cut it off.  
 
 
 
 
 
 
 
 
 
 

Input    Output 

4    0000  
8 1  
4 5 
2 7 
7 3  
 

Input    Output 

5    07133  
1 9 
2 4 
3 7 
8 4 
5 8  
 



Time Analysis 
 
 Time that use to solve this question is O(2n) because we use 2 loops to load 

the input follow by n input. 
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• Find the sum of two numbers with maximal size of 1,000,000 digits 

which problem cannot use type integer to keep them because 

limit of its is 1,000 digits

• First line is integer N is length (1 <= n <= 1,000,000)

• Next N lines contain 2 digits each, split by space.

• Result : output exactly N digits —> the sum of these two integers.
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Time limit: 2.0 second
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Python

Problem in Coding



Python

Problem :  for i in 

range(n):

Solve :  while(i < n):

Loop

Problem :  string = “”

Solve :  arr = bytearray(n)

Keeping Number

- It uses 1 of n per 8 bytes

Problem in Coding



Python

Problem in Coding



Java

• After calculate convert 

numbers to byte

• keep numbers with using 

array byte instead of String to 

concat the numbers

• use print array byte in library 

instead of loop print

Problem in Coding
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